





























F'(X)=12*XA3-48*xA2 x=0 x=-4 f(0)=2
F'(-3)=1051 F'(1)=-11
5 Stola=7rRH+27rRA2=247r
2RH+2RA2=24 V= 7rRA2H=7rRA2(12-RA2)/R=R7T (12-RA2)
H=(12-RA2)/R  V'=0
14 Bilet
1 2 Iog4x+2*1ogx 4=5 Ilog4x=a
2*a+2/a=5 a=2; a=1/2
log4x=2 x=16; 1log4x=1/2 x=2
2 1-2sin4x<co0s24x
Sin24x-2sin4x<0

M+ 7K <4x < 27K keZ

A H_rll_(<x<1(
4 4 2
3. a=6 b=8 a = 60' H=? x=32/15 h=(4*V30)/5

X tg30'=h/H H=1/V3*4\

6/25(3-5x)

5 h=8sm a=6sm V=?







































X2+ 1=x+3 x=-1 x=2 (x + 3) ==x2/2+3x=8-5/2=5.5
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55 =16 V=? 16=1/2*2R*R R=4

V = 4/371/?73=256/3 A

37 BILET

1 F(x)=x2 + 2x + 3 X0=1
Y=f(x)+f'(x)(x-X0) F'(X)=2X+2
Y=6+4(1-x)=10-4X

2 Ig3=a Ig2=b 10g56=171="
D 5 2~ igs 1-b

S(t)=34t - 14tA2 v=34m/h
S'(t)=34-28t=0 t=17/14
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